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401 AlSHI LS 33,583 35,351 A1,768
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OMHZHE dotiet &X SUHI(2uaE
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= 170,000 720,000 550,000
= 580,000 480,000 100,000
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= 170,000 720,000 550,000
= 580,000 480,000 100,000
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401 Al&H| L 2CHY| 46,254 48,689 A2,435
01 Al&H] 45,144 47,520 N2,376
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O2N/EL-STUNH|(NEEY =) ALY
A L EX0HLY (20 AE2H)
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ON=2HARE AGIHEH|(HAEE H10E)
35,000,000 = 14l 35,000 0 35,000
[ 35,000 0 35,000
o =rss 235 98,002 100,950 A2,948
[ 6,000 6,000 0
= 92,002 94,950 A2,948
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201 LEt2HH| 3,847 4,050 203
01 AtRZ2lH] 3,847 4,050 A203
Olger4=2H|] 3,847 4,050 A203
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AE 42,255,0009 * 14l 42,255 45,000 N2,745
QIETHLE Ol 2 2te] 38,661 39,449 788
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[ 1,700 1,700 0
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LS 20tA Al HH| 9,507 10,007 A500
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03 ol ZALHKR A 5,985 6,300 A315
Oagold @IIEBA BIIA OfHl X SHI(
=0 AR o) AN 4,635,008 * 14 4,635 4,950 ~315
ot S 64,519 63, 160 1,359
= 6,060 6,060 0
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